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b3-ch3-1.py

import numpy as np

#ABUS7|axa BB a A ax3BZbE LY

a = np.matrix([[3,1,7,5], [6,2,9,9], [7,3,4,6], [1,5,8,4
a

b = np.matrix([[5,9,7], [3,6,8], [8,5,4], [6,2,7]])
b
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print("Data Frame of ais :",f\n{a}')
print("Data Frame of b is :",f\n{b}')

#AE a2 bE &0 4x3 HBS A Y
ab_
ab

print("Data Frame of a*b is :",f'\n{ab}')
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print("Data Frame of b'*a is :",f"\n{bpa}')
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ainv = np.linalg.inv(a
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ainv
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iden =a @ ainv

iden

print("Data Frame of a*inverse a is :",f'\n{iden}')




b3-ch3-1.py

§AOM A=

Ainv

Ainv

print("Data Frame of inver, is ", f"\n{Ainv}')

X
print("Data Frame of X is :",f'\n{X}')
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